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�5=5465D�5=5465D: %<5F><=4 �4D<=4 �5>=<4>6=4 smetkina.m@normalvent.ru

$4EE>4 6>74GE4 L, <3/G4E 1115 <3/G4E �5M4O 4?<=4 GEF4=>6><, << 4600

%>?D>F<6?5=<5 E5F<, �4 300 �4 �5M4O 6OE>F4 GEF4=>6><, << 310

%>>D>EFL 6 E5G5=<<, </E 2.4 </E �5M4O L<D<=4 GEF4=>6><, << 560

$47<5D ?D>D<?O >>D?GE4 - �4EE4 GEF4=>6><, >7 92

�4F5D<4? <7>?OF<< - %F>D>=4 >5E?G6<64=<O G=<65DE4?L=4O

�4DG6=O= ?<EF ?4=5?< - -=5D7>?>FD55?5=<5, >�F 0.27

�=GFD5==<= ?<EF ?4=5?< - �E?>?=5=<5 >5M5>5<5==>5

�>EF46>4 =4 >5N5>F

'EF4=>6>4: LM DUCT Q 50-25 / V.1 / EG.4 / HE.1.27.18.C / SP.10 / G.1 / FP.C22.002A2 / G.1 / SP.10

%>EF46 GEF4=>6><:%>EF46 GEF4=>6><:

�>4G?L�>4G?L �4<<5=>64=<5�4<<5=>64=<5 ,<D<=4, <<,<D<=4, << �?<=4, <<�?<=4, << �OE>F4, <<�OE>F4, << �5E, >7�5E, >7 �>EF46>4 =4 >5N5>F�>EF46>4 =4 >5N5>F

M01 V.1 500 120 250 6 �>4G?L

M02 EG.4 560 330 310 8 �>4G?L

M03 HE.1.27.18.C 560 1150 310 25 �>4G?L

M04 SP.10 560 1150 310 12 �>4G?L

M05 G.1 500 125 250 3 �>4G?L

M06 FP.C22.002A2 550 450 300 23 �>4G?L

M07 G.1 500 125 250 3 �>4G?L

M08 SP.10 560 1150 310 12 �>4G?L

�5M<= 65E: 92

$47<5DO, G>474==O5 6 F5E=<G5E>>< ?<EF5, O6?ONFEO ?D5464D<F5?L=O<< < ?D< >F>?>=5=<< 5>?55, G5< =4 10% E>7?4E>6O64NFEO %F>D>=4<<

4>?>?=<F5?L=>.

�>GEF<G5E><5 44==O5 GEF4=>6><�>GEF<G5E><5 44==O5 GEF4=>6><

'D>65=L 76G>>6>= <>M=>EF<, �-'D>65=L 76G>>6>= <>M=>EF<, �-

6765L5==O=6765L5==O=
63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

�D<F>>. �4 6E>45 GEF4=>6><, Lw5a, dB(A) 33 35.5 35.2 36.6 29.1 25 34.7 20.1 42.4

�D<F>>. �4 6OE>45 GEF4=>6><, Lw6a, dB(A) 36.5 39.3 40.3 42.5 38.9 36.7 43.7 27.2 48.9

 

� >>DG65=<N, Lwa, dB(A) 22.5 31.3 37.3 42.5 48.9 46.7 43.7 37.2 52.5

* � E?GG45 =5E>>?L><E D56<<>6 D45>FO 65=F<?OF>D4 44==O5 ?D<6545=O 4?O <4>E<<4?L=>7> D56<<4



& � % � � ' � % � � �& � % � � ' � % � � �   � � � � / �� � � � / �

$56<<: �<<=<=

�>GEF<G5E><5 44==O5 GEF4=>6><�>GEF<G5E><5 44==O5 GEF4=>6><

'D>65=L 76G>>6>= <>M=>EF<, �-6765L5==O='D>65=L 76G>>6>= <>M=>EF<, �-6765L5==O= 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

�D<F>>. �4 6E>45 GEF4=>6><, Lw5a, dB(A) 33.0 35.5 35.2 36.6 29.1 25.0 34.7 20.1 42.4

�D<F>>. �4 6OE>45 GEF4=>6><, Lw6a, dB(A) 36.5 39.3 40.3 42.5 38.9 36.7 43.7 27.2 48.9

 

� >>DG65=<N, Lwa, dB(A) 22.5 31.3 37.3 42.5 48.9 46.7 43.7 37.2 52.5

�4?D46?5=<5 ?>F>>4:�4?D46?5=<5 ?>F>>4: �D<F>>�D<F>> &5<?5D4FGD4 6>74GE4 =4 6E>45, °%:&5<?5D4FGD4 6>74GE4 =4 6E>45, °%: -28-28

$4EE>4 6>74GE4, <$4EE>4 6>74GE4, <33/G4E:/G4E: 11151115 �?46=>EFL 6>74GE4 =4 6E>45, %:�?46=>EFL 6>74GE4 =4 6E>45, %: 9090

%>?D>F<6?5=<5 E5F<, �4:%>?D>F<6?5=<5 E5F<, �4: 300300 �?47>E>45D64=<5 6>74GE4 =4 6E>45, 7/>7:�?47>E>45D64=<5 6>74GE4 =4 6E>45, 7/>7: 0.350.35

�?4?4= 6>74GL=O=�?4?4= 6>74GL=O=

�4<<5=>64=<5: V.1 $4EE>4 6>74GE4, <3/G: 1115 �>?-6> >E5= ?>4 ?D<6>4: 1

�D>7D56, U?<F: V6>74. 6 >?4?4=5, </E: 2.5 �><5=F =4 >EL, �.<: 1

�D>7D56, N?>FD, �F: 0 � P 6>74, �4: 5 �5E, >7: 6

'EF4=>6?5==O5 ?D<6>44:

�4D<4==O5 D<?LFDO EU4�4D<4==O5 D<?LFDO EU4

%F5?5=L >G<EF><: EG.4 �D><76>4<F5?L=>EFL %>?D>F<6?5=<5

�4D>4 6EF46><: 50-25 G4 $4EE>4 6>74GE4, <3/G: 1115 � P p4EG5F=>5, �4: 35.3

�>?-6> D<?LF. 6EF46>>: 1 V6>74. 6 <4F5D<4?5, </E: 0.74 � P =4G4?L=>5, �4: 35.3

�5E, >7: 8 V6>74. 6 E5G5=<<, </E: 2.48 � P >>=5G=>5, �4: 250

�47D564F5?L M?5>FD<G5E><=�47D564F5?L M?5>FD<G5E><=

�4<<5=>64=<5: HE.1.27.18.C $4EE>4 6>74GE4, <3/G: 1115 D47=>EFL / U E5F<: 3 / 380

,��: �%&, &6>74. 6E/6OE, °%: -28 18 NGEF4=>6., >�F: 18

�>?-6> EFG?5=5=: 1 �F=.6?46=. 6E/6OE, %: 90 2.7 N?>FD55., >�F: 17.1

�>M=>EFL EFG?5=<, >�F: 18 �5E.6?46=. 6E/6OE, 7/>7: 0.4 0.4

�5E, >7: 25 V6>74, </E / � P , �4: 2.4 36.9

,G<>7?GL<F5?L,G<>7?GL<F5?L

�4<<5=>64=<5: SP.10 $4EE>4 6>74GE4, <3/G: 1115 �4F5D<4? ??4EF<=:

�?<=4 ??4EF<=O, <<: 1000 %>>D>EFL 6 E5G5=<<, </E: 4.13 �4M<F=>5 ?>>DOF<5: %F5>?>6>?>>=>

�5E, >7: 12 �445=<5 446?5=<O, �4: 17 &>?M<=4 <7>?OF<<, <<: 0

'D>65=L 76G>>6>= <>M=>EF<'D>65=L 76G>>6>= <>M=>EF< 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

Lw =4 6E>45, dB 61.7 52.3 45.3 41.8 30.6 25.8 36.0 24.2 62.3

,G<>?>7?>M5=<5, dB 2.0 3.0 7.0 18.0 30.0 32.0 23.0 32.0

Lw =4 6OE>45, dB 63.7 55.3 52.3 59.8 60.6 57.8 59.0 56.2 68.3

'D>65=L 76G>>6>= <>M=>EF<, �-67.'D>65=L 76G>>6>= <>M=>EF<, �-67. 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

LwA =4 6E>45, dB(A) 35.5 36.2 36.7 38.6 30.6 27.0 37.2 23.1 44.3

LwA =4 6OE>45, dB(A) 37.5 39.2 43.7 56.6 60.6 59.0 60.2 55.1 65.8

�<5>4O 6EF46>4�<5>4O 6EF46>4

�4<<5=>64=<5: G.1 �D<E>54<=5=<5, <<: L<D<=4 500 x 6OE>F4 250 L<=4 20 �5E, >7: 3

�5=F<?OF>D "%6>5>4=>5 >>?5E>" + G4EF>F=O= D57G?OF>D�5=F<?OF>D "%6>5>4=>5 >>?5E>" + G4EF>F=O= D57G?OF>D

�4<<5=>64=<5: FP.C22.002A2 -?5>FD>46<74F5?L 002A2 $4EE>4 6>74GE4, <3/G: 1 115
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�5=F<?OF>D: C22.002A2 N, >�F / >>?-6> 46<74F5?5=: 0.25 1 %6>5>4=O= =4?>D: 300

�>?-6> 65=F<?OF>D>6: 1 &<?: ��%&, IP54, '3 �445=<5 446?. 6 47D574F5, �4: 111

�4?D46?5=<5 ?>?4F>>: =4744 �<F4=<5: 3ph / 50 �F / 230/380 &D55G5<>5 446?5=<5, �4: 411

��� 65=F<?OF>D4 EF4F., % 71 ��� M?5>FD>46<74F5?O, %: 68 '4EF>F4 '�, �F: 48.9

n >>?5E4, >5/<<=: 2775 n =><., >5/<<=: 2840 '4EF>F4 '� max, �F: 54.1

n max >>?5E> / 46<74F5?L: 3075 I =><., �: 1.44 / 0.83 �>M=>EFL ?D< nwork., >�F: 0.24

$575D6 46<74F5?O: �5F N64?, >�F / �4?4E N, %: 0.18 33 &<? ?D<6>44: �DO<>= ?D<6>4

�5E, >7: 23 N ?>FD55., >�F: 0.3 '4EF>F=>5 D57.: �E?>?L7>64FL

'D>65=L 76G>>6>= <>M=>EF<'D>65=L 76G>>6>= <>M=>EF< 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

Lw =4 =47=5F4=<5, dB 64.7 58.4 55.9 63.7 68.9 67.5 65.5 60.3 73.9

Lw =4 6E4EO64=<5, dB 63.7 55.3 52.3 59.8 60.6 57.8 59.0 56.2 68.3

Lw > >>DG65=<N, dB 48.7 47.4 45.9 45.7 48.9 45.5 42.5 38.3 55.3

'D>65=L 76G>>6>= <>M=>EF<, �-67.'D>65=L 76G>>6>= <>M=>EF<, �-67. 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

LwA =4 =47=5F4=<5, dB(A) 38.5 42.3 47.3 60.5 68.9 68.7 66.7 59.2 73.4

LwA =4 6E4EO64=<5, dB(A) 37.5 39.2 43.7 56.6 60.6 59.0 60.2 55.1 65.8

LwA > >>DG65=<N, dB(A) 22.5 31.3 37.3 42.5 48.9 46.7 43.7 37.2 52.5

�<5>4O 6EF46>4�<5>4O 6EF46>4

�4<<5=>64=<5: G.1 �D<E>54<=5=<5, <<: L<D<=4 500 x 6OE>F4 250 L<=4 20 �5E, >7: 3

,G<>7?GL<F5?L,G<>7?GL<F5?L

�4<<5=>64=<5: SP.10 $4EE>4 6>74GE4, <3/G: 1115 �4F5D<4? ??4EF<=:

�?<=4 ??4EF<=O, <<: 1000 %>>D>EFL 6 E5G5=<<, </E: 4.13 �4M<F=>5 ?>>DOF<5: %F5>?>6>?>>=>

�5E, >7: 12 �445=<5 446?5=<O, �4: 17 &>?M<=4 <7>?OF<<, <<: 0

'D>65=L 76G>>6>= <>M=>EF<'D>65=L 76G>>6>= <>M=>EF< 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

Lw =4 6E>45, dB 64.7 58.4 55.9 63.7 68.9 67.5 65.5 60.3 73.9

,G<>?>7?>M5=<5, dB 2.0 3.0 7.0 18.0 30.0 32.0 23.0 32.0

Lw =4 6OE>45, dB 62.7 55.4 48.9 45.7 38.9 35.5 42.5 28.3 63.7

'D>65=L 76G>>6>= <>M=>EF<, �-67.'D>65=L 76G>>6>= <>M=>EF<, �-67. 63 �F63 �F 125 �F125 �F 250 �F250 �F 500 �F500 �F 1 >�F1 >�F 2 >�F2 >�F 4 >�F4 >�F 8 >�F8 >�F �>?=.�>?=.

LwA =4 6E>45, dB(A) 38.5 42.3 47.3 60.5 68.9 68.7 66.7 59.2 73.4

LwA =4 6OE>45, dB(A) 36.5 39.3 40.3 42.5 38.9 36.7 43.7 27.2 48.9
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�E5 M?5<5=FO >4=4?L=>7> >5>DG4>64=<O, <<5NM<5 EF>D>=G >5E?G6<64=<O, ?>EF46?ONFEO 6 "?D46>EF>D>==5<" <E?>?=5=<< (EF>D>=4 >5E?G6<64=<O E?D464 ?>
E>4G 46<65=<O 6>74GE4). � E?GG45 =5>5E>4<<>EF<, EF>D>=4 >5E?G6<64=<O >464>7> ?>4>5=>7> M?5<5=F4 <>65F 5OFL <7<5=5=4 =4 "?56>EF>D>==55" <E?>?=5=<5
E>7?4E=> <=EFDG>F<< - =5?>ED54EF65==> =4 >5N5>F5 <E?>?=<F5?5< <>=F46=OE D45>F.

1.

�>4G?<, 6OE>F4 >>F>DOE E GG5F>< D4<O >E=>64=<O ?D56OL45F 2500 <<, <77>F46?<64NFEO < >F7DG64NFEO 6 G7?4E E >><??5>F>< =5>5E>4<<OE 4?O E5>D>< =4
>5N5>F5 45F4?5=.

2.

�77>F>6?5=<5 <>4G?5=,6OE>F4 >>F>DOE E GG5F>< D4<O >E=>64=<O ?D56OL45F 2500 <<, 6 E>5D4==>< 6<45 4>?6=4 >F45?L=> ?D>?<EO64FLEO 6 4>7>6>D5, 4 F4>65
6 ?>4?<E4==OE F5E=<G5E><E ?<EF4E.

3.

-?5<5=FO, >>F>DO5 6E5744 ?>EF46?ONFEO >F45?L=> >F <>4G?5= GEF4=>6><:4.

74M<F=4O >DOL4 >F >E44>>6;4.1.

<>4G?< >DOL=>7> 6O5D>E4 /AO.1 < /AO.2;4.2.

747>64O 7>D5?>4;4.3.

747>64O D4<?4;4.4.

$4EL<D<F5?L=O= 54> 4?O G7?4 >56O7>< 7?<>>?56>7> D5>G?5D4F>D4 =5 ?D<E>54<=5= > G7?G, ?D<E>54<=5=<5 >EGM5EF6?O5FEO =4 >5N5>F5.5.

% F<?>D47<5D4 050 / 07 7>D<7>=F4?L=O5 ??4EF<=G4FO5 D5>G?5D4F>DO E>EF>OF <7 2-E >>D?GE>6, 6 >>F>DO5 =5>5E>4<<> GEF4=>6<FL 6EF46>G D5>G?5D4F>D4 (6E>4<F 6
>><??5>F) < EFO=GFL E ?><>MLN <56E5>F<>==OE EFO65> (6E>4OF 6 >><??5>F). �> 035 / 05 7>D<7>=F4?L=O= ??4EF<=G4FO= D5>G?5D4F>D <77>F46?<645FEO <
>F7DG645FEO 54<=O< <>4G?5<.

6.

�?O D47><>=GFOE E>?>4<?L=OE >>=FGD>6 DD5>= < 4>?>?=<F5?L=>5 <4E?> =5 6E>4OF 6 >><??5>F ?>EF46><.7.

�?5D5=<5 4?O <>=F46=OE EF4>4=>6 =5 GEF4=46?<645FEO =4 746>45-<77>F>6<F5?5 < ?>EF46?O5FEO 6 6<45 >F45?L=OE 45F4?5= 6 >>?<G5EF65 4 LF. 4?O ??>E>>=
>D>6?< < 2 LF. 4?O E>4F=>=.

8.

�4==O5 ?> 76G>>6>= <>M=>EF< ?D<6>4OFEO 4?O <4>E<<4?L=>7> D56<<4.9.

�5D6O= D47<5D =4 G5DF565 G>47O645FEO ?> 6<4<<>= EF>D>=5 (6OE>F4 3 4?O GEF4=>6>> 6 65DF<>4?L=>< <E?>?=5=<<, L<D<=4 3 4?O GEF4=>6>> 6 7>D<7>=F4?L=><
<E?>?=5=<<).

10.
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�D<F>>�D<F>>

$4EE>4 6>74GE4 <3/G
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�$�$�� ���&��/&�$�: FP.C22.002A2

nD45 = 2775>5/<<=+nD45 = 2775>5/<<=
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��� 20%+��� 20%
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�D4D<> E5F<+�D4D<> E5F<

$&
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$�������'��/� �������& ��&���&���$�������'��/� �������& ��&���&���

�>=FD>??5D G?D46?5=<O
 Albacore PLC.A01 

 Segnetics SMH4 

'?D46?5=<5 >?4?4=4<<

'?D46?5=<5 >?4?4=4<<

�>4>7D56 >?4?4=>6

�5D45>F>4 E<7=4?>6 E >>=F56OE 6O>?NG4F5?5= ?D<6>44

�<F4NM55 =4?DO65=<5:�<F4NM55 =4?DO65=<5:

 �> G<>?G4=<N 

 24 � 

 220 � 

�D<F>>. '?D46?5=<5 4>?>?=<F5?L=O<< >?4?4=4<<

 �5 46F><4F<7<D>64FL 

 $5F<D>G?OF<O: ��� /�/�� 

 �4=4? =47D564 

 -?5<5=F D575D6=>7> 65=F<?OF>D4 

�D<F>>, �5=F<?OF>D FP.C22.002A2
�>M=>EFL 46<74F5?O: 0.25 >�F.
�<F4=<5: 3ph / 50 �F / 230/380
�>?<G5EF6> 46<74F5?5=: 1

�E?>?L7>64FL G4EF>F=O= D57G?OF>D

'?D46?OFL E>>D>EFLN 65=F<?OF>D4

�4FG<> 446?5=<O =4 65=F<?OF>D

�=4<>4F<O E>EF>O=<O D<?LFD>6
�E57> D<?LFD>6: 1  �464O= D<?LFD =4 E6>= 6E>4 

�D<F>>. -?5>FD>=47D56 1 HE.1.27.18.C
�>?<G5EF6> EFG?5=5=: 1
�>M=>EFL EFG?5=<: 18
�<F4=<5: 3 / 380
,�� GEF4=>6?5=: ��

�D54=47D56

 �>445D64=<5 & ?> >F45?L=><G 44FG<>G 

�4FG<><

%%� (E E5DF<D<>4F>< ED54EF6 <7<5D5=<=): F5<?5D4FGDO < 6?46=.

�4FG<> F5<?5D4FGDO 6 ?><5M5=<<
�4FG<> G?<G=>= F5<?5D4FGDO:

6 >4=4?L=>< <E?>?=5=<<

�>?>?=<F5?L=O5 >?F<<

'?D46?5=<5 < ?<F4=<5 6=5L=<E 6OFO65>

$5?5 ?5D5?444 6=5L=. 6OFO65>

'?D46?5=<5 6=5L=5= 6OFO6>>=

'?D46?5=<5 4>6>4G<>4<<

�G?LF �'

�<EF4=F<>==O= E<7=4? D45>F4/464D<O

�6>4 ?<F4=<O ?> ?5D6>= >4F57>D<< 74M<FO >F 74<>D>7><

100% D575D6 E<EF5<O, ?5D5<5==4O D45>F4 ?> <>F>-G4E4< (ethernet)

P45>F4 ?> D4E?<E4=<N

$45>F4 6 E5F<

 ModBUS RTU (RS-485) 

 ModBUS TCP (Ethernet 10Base-T) 

%F5?5=L ?O?56?47>74M<M5==>EF< (IP)
 %F4=44DF4O IP31 

 �>6OL5==4O IP66 

�>?=>5 <<O >><??5>F4: LM PRUF \ SSM-ALB-F.FD.E1.HE1.V.AHUF.T0.S-1F1.06.3E1.40 \ IF.004E \ DA.CP \ DA.AP \ A.3xE.N.04 \ DP.R \ DP.R

%�%&�� �������&�%�%&�� �������&�

�>7<F<O�>7<F<O �?<E4=<5�?<E4=<5 �>4G?L�>4G?L �>?<G5EF6>�>?<G5EF6>

1 -<F SSM (IP31)
SSM-ALB-F. FD. E1. HE1. V. AHUF. T0. S-1F1.
06. 3E1. 40

1

2 �D<F>>. '4EF>F=O= D57G?OF>D 65=F<?OF>D4 IF.004E 1

3 �4FG<> >4=4?L=>= F5<?5D4FGDO, Pt1000 DA.CP 1

ID �5N5>F4: 156808
IDGEF4=>6><: 001-775-316

'EF4=>6>4: �3.1, �3.2 (D57) 2LF. v01



4 �4FG<> G?<G=>= F5<?5D4FGDO, Pt1000 DA.AP 1

5 �D<6>4 6>74GL=>= 74E?>=>< ?D<F>>4 =4 6E>45, �F>D/�4>D A.3xE.N.04 1

6 �4FG<> ?5D5?444 446?5=<O =4 D<?LFD5 1 ?D<F>>4, 0..500 �4 DP.R 1

7 �4FG<> ?5D5?444 446?5=<O =4 65=F<?OF>D5 ?D<F>>4, 0..500 �4 DP.R 1

�>7<F<O�>7<F<O �?<E4=<5�?<E4=<5 �>4G?L�>4G?L �>?<G5EF6>�>?<G5EF6>

ID �5N5>F4: 156808
IDGEF4=>6><: 001-775-316

'EF4=>6>4: �3.1, �3.2 (D57) 2LF. v01


